
ZK1000A �����

��

� �������	


� ��
������

� ���������

� ������� �!"#$

����

� �%&'()*

� +,-.�UPS�/
� 012�3456

�� �� ����

	


TJ (�)
���


�

7� 8� 79

IF(AV) ������

180������50HZ
�����THS=117�

150 1000 A

IT(AV) ������

180������50HZ
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150 1547 A

VRRM  �!"#��$

VRRM tp=10ms
VRSM=VRRM100V

150 100 5000 V

IRRM  �!"#���

VRM=VRRM 150 50 mA

IFSM ��%!"&'�� 10ms()�����
VR=0.6VRRM

150
13 KA

I2t &'���*+,- 1100 A2S*10
VTO ./�$

150
1.42 V

rT 01�2 0.36 m3

VFM ��#��$ ITM=3000A,F=9.0KN 150 2.6 V

Irm  �4"�� ITM=3000A
�

tq=1000us
Di/dt=-20A/us.

Vr=50V
150

114 A

trr  �4"+, 4 us

Qrr 4"�5 120 150 uC

Rth(j-h) �267	8��9: ����,$;< 9.0KN 0.03
0

�/W

FM =>< 10 20 KN

Tstq �?
@ -40 160 �

Wt AB g
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IF(AV) 1000A

VRRM 100-5000V

Trr 4.0 us
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